
ОБРАЗЕЦ 

Лексико-грамматический тест  
 

1. Вставьте подходящий предлог 

1) There are many illustrated books … Human Anatomy. 

A) in  B) for  C) on  D) to  

2) The trunk consists  … the chest, the abdomen and the back. 

A) in  B) to  C) of  D) into 

2. Найдите пары синонимов 

1. thorax   2. viscera  3. chamber     

a. internal organs   b. chest   c. cavity     

3. Найдите пары антонимов  

1.   at the upper end    2. long    3. male  

a.  short    b. female   c. at the bottom   

4. Выберите подходящее по смыслу слово 

1) The … of the skull depends upon the form of the bones. 

A) function   B) surface   C) form   D) number  

2)   The … of his illness is unknown.  

A) injury  B) cause  C) structures  D) number 

3)  ... cover and protect the ends of long bones at the joints. 

A) layers   B)  tendons  C) ligaments   D) cartilages 

5. Выберите правильный перевод модального глагола, данного в скобках 

1) Smooth muscles (могут) contract slowly. 

A) could   B) must    C) can   D) should 

2) I (должен) return this book to the library tomorrow.  

A) can   B) must   C) may  D) could  

6. Выберите правильный перевод слова, данного в скобках  

1) (пищеварительный) canal  

A) alimentary    B) alimented  C) alimental   D) alimenting  

2) (пищеварительная) system  

A) digestion   B) digested    C) digesting  D) digestive  

7. Выберите соответствующую форму глагола 

 1)  We … to study the bones of the upper and lower limbs last week.  

A) begin  B) began  C) had begun  D) were beginning   

 2)  I … my report when she entered the room.  

A) were writing   B) wrote  C) was writing  D) writed  

 3)  … the students learn the framework of the chest in the first term?   

      A) Will be   B) Does   C) Will    D) Are  

 4) The students … in the physical laboratory from 10 to 11 a.m. yesterday. 

      A) is worked   B) are working   C) were working   D) work 

8.  Выберите правильный вариант перевода предложения  
1)  Smooth muscles contract without any volition.  

  A) Гладкие мышцы сокращаются непроизвольно. 

  B) Гладкие мышцы способны сокращаться непроизвольно. 

  C) Гладкие мышцы сокращаются произвольно. 

  D) Гладкие мышцы могут сокращаться непроизвольно.  

2)  Striated muscles react to changes in the environment.  

  A) Поперечно-полосатые мышцы реагируют на изменения температуры. 

  B) Поперечно-полосатые мышцы реагируют на изменения в окружающей среде.  

  C) Поперечно-полосатые мышцы способны реагировать на изменения в окружающей среде. 

  D) Поперечно-полосатые мышцы реагируют на изменения температуры в окружающей  

      среде.  

https://en.wikipedia.org/wiki/Joint


9. Переведите слова, данные в скобках: 

1) Nerve impulses (заставляют) the muscle to contract. 

2) Smooth muscle cells are usually (продолговатые) cells. 

3) The (суставы) between bones can move more or less easily. 

4) Each skeletal muscle has lymphatic (обеспечение).   

5) The abdomen contains the (мочевой пузырь). 

 

10. Используя словообразовательные элементы (-ive, en-, -ion, -ous), образуйте 

подходящие по смыслу производные от слов, данных в скобках: 

1) The ventral cavity (closes) the mouse and the pharynx. 

2) Cardiac muscle has a force of (contract) of the skeletal muscle. 

3) Muscles are the (act) part of the motor apparatus. 

4) The brain is (continue) with the spinal cord. 

 

 


